

Find the EXACT solutions to each equation.

1.  $\frac{x}{x+4} - \frac{x+34}{x^2+3x-4} = \frac{-7}{x-1}$

2.  $\frac{2x}{x^2-1} = \frac{4}{x^2+2x-3}$

Find the EXACT solutions to each equation.

1.  $\frac{x}{x+4} - \frac{x+34}{x^2+3x-4} = \frac{-7}{x-1}$

$$\frac{(x+4)}{(x-1)} \left[ \frac{x}{x+4} - \frac{x+34}{(x+4)(x-1)} \right] = \left( \frac{-7}{x-1} \right) (x+4)(x-1)$$

$$x(x-1) - (x+34) = -7(x+4)$$

$$x^2 - x - x - 34 = -7x - 28$$

$$+7x + 28 \quad +7x + 28$$

$$x^2 + 5x - 6 = 0$$

$$(x+6)(x-1) = 0$$

$$x = -6, \text{ } \cancel{x = 1}$$

$$x = -6$$

2.  $\frac{2x}{x^2-1} - \frac{4}{x^2+2x-3}$



$$\frac{2x}{x^2-1} = \frac{4}{x^2+2x-3}$$

$$4(x^2-1) = 2x(x^2+2x-3)$$

$$4x^2 - 4 = 2x^3 + 4x^2 - 6x$$

$$-4x^2 + 4 \quad -4x^2 \quad +4$$

$$0 = 2x^3 - 6x + 4$$

WE CAN'T FACTOR THIS!

$$x = -2$$

$$\frac{(x+3)}{(x+1)} \left[ \frac{2x}{(x+1)(x-1)} \right] = \left[ \frac{4}{(x+3)(x-1)} \right]$$

$$2x(x+3) = 4(x+1)$$

$$2x^2 + 6x = 4x + 4$$

$$-4x - 4 \quad -4x - 4$$

$$\frac{2x^2 + 2x - 4}{2} = \frac{0}{2}$$

$$x^2 + x - 2 = 0$$

$$(x+2)(x-1) = 0$$

$$x = -2, \text{ } \cancel{x = 1}$$